po et odpovedi
&islo otazky znenie otazky % odpovedi
IKDS (Ing.) NKB (Ing.) PDI (Ing.) PS (Bc.) PS (Ing) Stav (Bc.) T MS (Bc.) TMS (Ing.) GaK (Bc.)
_— 4 2 2 21 4 15 11 3 0 62|odpovedi
1. Studijny program
6,50% 3,20% 3,20% 33,90% 6,50% 24,20% 17,70% 4,80% 0,00% 100,00%j
i Z 3. 4
2 ROchik 13 25 20 4 62|odpovedi
) 21,00% 40,30% 32,30% 6,50% 100,00%]
denna externa
3 Forma &tddia 52 10 62|odpovedi
83,90% 16,10% 100,00%j
1 2 3 4 5 6 7 8 9 10
4 Celkové spokojnost 1 1 3 6 7 4 12 10 7 11 62[odpovedi
) — 1,60% 1,60% 4,80% 9,70% 11,30% 6,50% 19,40% 16,10% 11,30% 17,70% 100,00%|
Studijny program KDS Roénik
TMS (Ing.); _GaK (Bc.); 0,00% g’;%"])/;
480% /[ > NKB (Ing.); 3,20%
PDI (Ing.); 3,20%
T - . ,
Forma Stadia Celkova spokojnos t
25,00%
20,00% - 19,40%
' 17,70%
16,10%
15,00%

9,70%

11,30%

11,30%

10,00%

5,00%

0,00%

1,60%

1,60%




